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Direction (Q. Nos. 31 and 32) :
passage given below ang
that follow,

Read the
answer the questions

Poverty is cruel, but it is curable. The
known cure is €conomic pragmatism ins
of woolly ideology. In the field of econo
the tree of ideology has never bore any
We have countless chances for development.
Opportunities multiply when they are seized;
they die when neglected. We have barely
tapped our immeasurable potential for
growth. Immense manpower, superb skills
and enterprise are to India what oil is to the
Middle East. The only difference is that the

oil will be depleted one day, but our human
resources will never be.

only
tead
mics,
fruit,

31. Which of the following is most opposite

in meaning of the word ‘deplete’ as used
in the passage?

(1) Regenerate

+(2) Empty
(3) Quench
(4) Inflate

32. According to the author, ideology in the

context of economics
(1) is the most important consideration
(2) has barely yielded any rcgult

.(3) is not a futile consideration

(4) has proved to be a basic

requirement
33. Fill in the blank with the correct

pronoun in the following sentence :
One should love country.

(1) his

(2) her

.(3) one’s

(4) my

| and consonant
e orE::h“sr% is indicated
respectively by
(1) 22, 22
.(2) 5,39
(3) 10, 34
(4) 20, 24
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35. Identify the direct narration
sentence :

Atul informed his friend that he
could make use of his bike while
he was away.

(1) Atul said to his friend, “You will
make use of my bike while | was
away.”

(2) Atul said to his friend, “Use my bike
while I go away.”

(3) Atul said to his friend, “You can

' make use of my bike while | am
away.”

(4) Atul asked his friend, “Will you

make use of my bike while | am
away?”

36. Identify the parts of speech of the

of the given

underlined word in the following
sentence :
He is intelligent enough to solve
this sum.
(1) Adverb (2) Adjective
(3) Preposition (4) Noun
37. Find out the subject in the following
sentence :
On the top of the hill lives a hermit.
(1) the hill

(2) a hermit

(3) On the top

!4] On the top of the hill
38. In the following sentence, change the

verb to the past tense :

She hides her face for shame.

,{1) hidden (2) hide

(3) hid (4) hidded
39. Identify the type of the sentence given

below :

How well she sings!

(1) Declarative

(2) Imperative

(3) Interrogative

J4} Exclamatory
40. Which of the following sentences is

correct?

»(1) He is an European citizen.

(2) An one rupee note is rare to find.

(3) I donated an unit of blood.

{41 An FIR was lodged against him.

[ PTO.
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41. The first Muslim President of the Indian
National Congress was

(1) Abul Kalam Azad
(2) Rafi Ahmed Kidwai
(3) Badruddin Tyabji
(4) Hakim Ajmal Khan
42. Name the leader who died of injuries
from Lathi charge during the course

of demonstration against the Simon
Commission.

(1) Lala Lajpat Rai
(2) Govind Ballabh Pant
(3) Dr. Satyapal
(4) Dr. Kitchlew
43. The Rajya Sabha can delay the Money

Bill sent for its consideration by the Lok
Sabha for a maximum period of

(1) 10 days
(2) 12 days
(3) 14 days
(4) 16 days

44. The southernmost point of Peninsular
India, that is Kanyakumari, is in the
(1) north of the Tropic of Cancer
(2) south of the Tropic of Capricorn
(3) north of the Equator
(4) south of the Equator

45. Which of the following ocean currents
does not belong to Atlantic Ocean?
(1) Agulhas Current
(2) Labrador Current
(3) Florida Current
(4) Canary Current

46. N. is si : i
S;t:leuofl?ndl':gs W Whied 3o whik
(1) Arunachal Pradesh
(2) Assam
(3) Sikkim
(4) Meghalaya

47. In India, pove i g
basis of T is estimated on the

(1) household consumption expenditure
(2) per capita income

(3) per capita €xpenditure

(4) None of the above
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51.

48,

49,

50.

51.

52.

53.

54.

Who amon
President
of India?
(1) Dr. Sachchidananda Sinha
(2) Dr. Rajendra Prasad

(3) Dr. B. R. Ambedkar

(4) Prof. H. C. Mookerjee

g the following was the first
of the Constituent Assembly

Kakori Conspiracy Case took place in
(1) 1920 (2) 1925

(3) 1930 (4) 1935

The first National Park established in
India is

(1) Jim Corbett National Park

(2) Dudhwa National Park

(3) Periyar National Park

(4) Manas National Park

Which one of the following statements
about teaching is not correct?

(1) Teaching is an interactive process.
(2) Teaching is a tripolar process.

(3) Teaching is effect-directed
process,

Teaching is a process confined only
to the classrooms.

an

(4)

The main reason to initiate mid-day
meal programme for primary schools is
(1) to expand society

(2) to increase employment

(3) to increase enrollment

(4) teachers’ development

Who propounded the stimulus-response
theory?

(1) Pavlov

(2) Thorndike
(3) Skinner
(4) Kohler

Disability to read and write is
(1) autism

(2) dyslexia

(3) dyspraxia

(4) apraxia

[ P.T.O.
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57.

59.

60.

61.

“An innovation is an idea perceived as
new by the individual.” Who said this?

(1) H. G. Burnett

(2) E. M. Rogers

(3) M. B. Miles

(4) Allen

Which Committee in the history of

Indian education discussed ‘wastage
and stagnation’ first of all?

(1) Hartog Committee

(2) Yashpal Committee

(3) Mehta Committee

(4) Zakir Hussain Committee

Absolute zero exists in
(1) nominal scale

(2) interval scale

(3) ordinal scale

(4) ratio scale

What is the main component of
introduction skill?

(1) Previous knowledge
(2) Lecturing

(3) Blackboard writing
(4) Homework

When was National Curriculum
Framework introduced by NCERT?

(1) 1986 (2) 1992

(3) 2005 (4) 2009

‘Educational administration pro:aides
appropriate education to appropriate
student by appropriate teacher by which
thgy can _able to become the best by
using available maximum resources.”
This definition is given by

(1) 8. N. Mukherjee

(2) Cambell

(3) Welfare Grahya

(4) Dr. Atmanand Mishra

‘Rchat?ilitatinn Council of India’ i
established for which purpose?

(1) Distance education

(2) Environmental education

(3) Education of son
disability (PWD) e

(4) None of the above

- with
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63.

64.

65.

66.

67.

The law of developmental direction
includes

(1) cephalocaudal law

(2) proximodistal law

(3) Both (1) and (2)

(4) Neither (1) nor (2)

According to Margaret Mead, the most

important factor for individual
differences is

(1) biological
(2) psychological
(3) homologous

(4) cultural

The propounder of ‘Braille Script’.il
(1) Charles Braille

(2) Louis Braille

(3) Barbier Braille

(4) None of them

Who proposed the theory of classical
conditioning?

(1) Skinner

(2) Spinovich

(3) Pavlov

(4) Binet

The book, Hereditary Genius is written
by whom?

(1) Cattell

(2) Galton

(3) Terman

(4) Pearson

[

Which one of the following factors affects
the development of child?

(1) .Endocrinal glands

(2) “Nutritious diet

(3) Diseases and injuries
(4) Allof the above

[ P.T..
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69.

70.

71.

72.

73.

The correct order of Gagne’s learning
hierarchy is .
concept learning,

(1) rule learning,
problem solving

(2) concept learning, problem solving,
rule learning

(3) concept learning, rule learning,
problem solving

(4) rule learning, problem solving,

concept learning

The stage of creative problem solving
in which the individuals do not give
attention to the problem 18

LS

(1) translation
(2) illumination
(3) incubation
(4) preparation

‘National Institute of Orthopaedlcally
Handicapped’ is situated in

(1) Dehradun

(2) Mumbai

(3) Kolkata

(4) Secunderabad

Edible salt is made up of

(1) weak acid and weak base

(2) strong acid and strong base °
(3) weak acid and strong base
(4) strong acid and weak base

If the kinetic energy of a body becomes

four times of its initial value, then the
new momentum

(1) will be three
value

(2) will be four times of the initial :ralue

(3) will be two times of the initial value
(4) will remain unchanged

times of the initial

The nature of sound waves is
(1) transverse

(2) longitudinal
(3) electromagnetic
(4) None of the above

[ PT.0.
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74.

75.

76.

77.

78.

79.

80.

1 micron (p) is
(1) 10°m

2 1012 m

(3) 106 m

4 10715 m

The atmospheric zone in which ozone
layer lies is called
(1) exosphere

(2) mesosphere

(3) troposphere

(4) stratosphere

Spiracles are used for breathing in

(1) fish

(2) cockroach

(3) earthworm

(4) pila

The position x of a particle moving along
a straight line path varies with time
according to the relation x=6t2 -5t

where x is in meter, t is in second. The
initial velocity of the particle is

(1) é6m/s (2) -5m/s
(3) 5m/s @) -6m/s

Night blindness is caused due to the
deficiency of

(1) vitamin A
(2) vitamin C

(3) vitamin B

(4) vitamin D

The volume of 4-4 g CO, at NTP will be
(1) 224L (2) 224L

(3) 224L, (4) 448L
Among the following, the weakest
force is

(1) gravitational force

(2) electric force

(3) nuclear force

(4) magnetic force

[ P.T.O.



8l.b & fm wm ¥ fm owhw
b2 +8b29p + 14 T 47

(1) b>2-5 b<4
(2) b>5, b<-4
(3) -4<b<s

(4) 3Iwgw & @ = 7
82.%m fm ¥ IR AB+AC=54D W
AC-AD=8%, M 3Id ABCD #1 &%l §
D c

A

36 91 3
50 31 3
(3) 60 =1 gFrd
(4) 82 71 1§
83. af2 3 wigall N St A oguE 1:4 % 3k

9% AH I 4: 5 B, 7@ 6 A
H F1 g9 Bm?

v7]

(1)
()

(1) 4:25 2 1:16
@) 1:25 4) 16:25
B4. Y¥H 9 WiHfd® AW wEalt 1 ovwa #
(1 9 (2) 10
2 1
@ 115 @ 11

85. 9t V2916=54 R, 7
J29-16 +4/0-2916 ++/0-002916 +/0-000029 16

&1 WH =1 27
(1) 59994 (2) 5'4554
(3) 54545 (4) 59449

86. i wemsl 1 Im 98 R IR weeh Ik gwh
% i IPYE 2 : 3 aW g ok el F d=
U 5 : 8 &, 79 gul wem i i

(1) 10 (2) 20
(3) 30 (4) 40
87. 7R r N & W F vl w wwoE
fafafifa 2, N e qio &
(1) 6r (2) 3r
) 9 4 12

ATR-2019/3-A
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81. For what value of b, the inequality
b2+8b29b+14 is correct?

(1) b2-5, bs4

(2) b25, bs-4

(3) -4<bs>S

(4) None of the above

In the adjoining figure, if AB+ AC=5AD

and AC-AD=8, then the area of the
rectangle ABCD is

D

82.

(o)

o

A
36 sq.
50 sq.
60 sq.
82 sq.

unit
unit
unit
unit

(1)
(2)
(3)

(4)
83. If the heights of two cones are in the
ratio 1 : 4 and their diameters are in the
ratio 4 : 5, then what is the ratio of their

volumes?
(1) 4 : 25 (2) 1:16
(3) 1:25 (4) 16 : 25

B4. The average of the first 9 natural prime
numbers is

(1) 9
(3)

10
T
9
85. If V2916 = 54, then what is the value of
¥29-16 +4/0-2916 +v/0-002916 ++/0-000029167
(1) 59994 (2) 54554

(3] 5:'4545 (4) 5:9449

86. The sum of three numbers is 98. If the
ratio between the first and second be
2 :3 and that between the second and
third be 5:8, then find the second

(2)

. ()

11=
9

number.
(1) 10 (2) 20
(3). 30 (4) 40

i
87. If a regular hexagon is inscribed in a
circle of radius r, then its perimeter is

(1) 6r (2) 3r
(3) or 4) 12r



se. e fow % s %) ghfien fsa a8
(1) wftrenat @
@) *il ¥ st }
3) Wit @
(4) s ¥ erande }
89. (10012 %151 §

(1) 103003001  (2) 100303001
(3) 1003003001 (4) 100300301
90. 7R et wwm ® 20%, 120 B, A 3 wEm

%1 120% ¥
(1) 20 @) 120
(3) 480 (4) 720
91, fr=ferfm &% & wed A fow - &7
6 1315 19 5
11’ 18’ 22’ 36' 6
6 13
) T3 (2) M
15 19
3) 22 4) 36
92. T% A I wam ¥ 25% # G ¥R R
Igeh! hrerd fraa i w21 &t sg ofd s
%S THEHE &1 @7
(1) 15% (2) 20%
(3) 21:5% (4) 23-4%
93. 1.27 TN §
127 73
14 11
(3) = @ T2
94, T v Whafy = B R A 15 T F AN
B SN }) 78 8 T @ W
(1) 30=ul®
(2) 40 =dl
(3) 4538 A
(4) 60 a5t A
QE.qﬁax=by=cz?lﬂ1b2=acﬂ.'ﬂayt
xz xz
(1) e (?) Ax-2)
xz 2xz
Bleas 9 5
ATR-2019/3-A
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90.

91.

92'

93.

94.

95.

The incenter of a triangle is determined
by

(1) altitudes

(2) angle bisectors

(3) medians

(4) perpendicular bisectors of the sides

The value of (1001)3 is
(1) 103003001 (2) 100303001
(3) 1003003001 (4) 100300301

If 120 is 20% of a number, then 120% of
that number will be

(1) 20 @) 120
(3) 480 4) 720

Which one of the following is the
smallest fraction?
6 13 15 19 5

6 13

1) — 2) ==

(1) T 2 T

15 19

3) — 4) —

) 22 ® 36
The length of a rectangle is increased by

25%. By what percent of the breadth
to be decreased to maintain the same
area?

(1) 15% (2) 20%
(3) 21:5% 4) 23-4%
1.27 is equal to
127 73
1) — 2) —
1) 100 @ 100
14 11
3) — q4) —
@ 13 (4) T

A sum of money doubles itself in

15 years with compound interest. It will
become 8 times in

(1) 30 years

(2) 40 years

(3) 45 years

(4) 60 years

If ax =p¥Y =c2 and b2=ﬂf., then yis
xz

) 2 e
x+y (2) 2Ax-2)

xz
Ay o= 2xz
F 2Az-x)+3 L z+x

[ P.T.O.



96.

97.

98.

99!

100

101.

102.

xz-y2—9z2+6yz$|aw=fauzt
(1) (x+y-32)(x+y+3z)
(2) (x-y-32)(x-y+22)
B) (x+y-32)(x-y+3z)
(4) (x—-2y+32]|x—y+32j

T Fena 9 ) giR el e
a W bR R sEHR weR T w-
fergalt = forem areht Y ) aard )
a-b a+b
W )
ab ab
3) > (4) iy

%ﬁsmﬁm%smﬂﬁa@(aﬁi)ﬁm

13, 14, 18, 16, 19, 12

e AT Snft

(1) 14 ) 15

(3) 16 @) 17 7_
¥ gt ¥ i Tl & sy wee 2

(1) 2 Wit = agers + g
(2) 3 TfeF = 9ge® + 2 1y
(3) wIfEH = ages + mma

(4) W = 2 sgew + 3 Wy

. R TRl =f 9 s T W 20% 9wl

Bt ?, @ 9 gea W wowra = wm A
(1) 20% 2) 25%

40, 50,
3) =% (4) 3%
WA % 239 e fafe s
(1) 3o fo Tra
(2) o= TR g
(3) T st
(4) o a0 Ff

WRA # ¥ G R F e s 27
(1) 25w
) 29
(3) 30 I

(4) . 29 T

ATR-2019/3-A
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97.

99,

100.

101.

102.

. X

2_y2-92? +6yz is factorized as

(1) (x+y-32)(x+y+32z)

(2) (x-y-32(x-y+22)

(3) (x+y—-32)(x-y+32z

(4) (x-2y+3z)(x-y+32)

In a trapezium, the lengths of its parallel
sides are a and b. The length of the line

joining the midpoints of its non-parallel
sides is

(1) "—;3—’- (2) %—13 '
ab _ab_
(3) 2 “ a+b

The ages (in years) of 6 students in
a class are given as :

13, 14, 18, 16, 19, 12
Their median will be
(1) 14 (2) 15
(3) 16 4) 17

The empirical relationship among the
three measures of central tendencies is

(1) 2 Median = Mode + Mean
(2) 3 Median = Mode + 2 Mean
(3) Median = Mode + Mean

(4) Median = 2 Mode + 3 Mean

If a person loses 20% on selling price,

then what percentage of loss will be
made on the cost price?

(1) 20% () 25%
40
@ % () -53—0%

The 23rd Chief
of India is

(1) O. P. Rawat

(2) Achal Kumar Jyoti
(3) Sunil Arorg

(4) S. Y. Quraishj
When is the National
celebrated in India?

(1) 25th May

(2) 29th June

(3) 30th July

(4) 29th August

Election Commissioner

Sports Day



103. JE9Raq vEw= frmy Rran?
(1) wEy
(2) AT
(3) dr==z
(4) ham g

104. 4w wEiaw f=m, 2018 5 figyg (o) =

7
(1) e YUV ) 9 FQ
(2) 9 YU F FH =

108. eE *ediE 299 (ho w=o amw), 2018 F

AR WA F1 fag § R-m w27
(1) 136af
(2) 81af
(3) 133af
(4) 130af
106. U9y’ AT WYSH F WadE HA A7
(1) wed=ATy
(2) @AY
(3) My
(4) <=9

107. fr=ffaa & A -1 TAlEF F AT 27

(1) =
(2) =P
(3) wEmT
(4) TR
108, wisfigey & demrmy #RY (R Ak
G § o & A T
TG 97
(1) ¥[adq
2) wWeZEHA
3) TfgraiA 1
(4) TRyEda 11
109. firigp whva @
(1) w0 ¥ fag
(2) g g % e
3) wER ¥ faw
@) Fa & fom

103. Who wrote the epic, Buddhacharitam ?

(1) Ashvaghosha

(2) Nagarjuna

(3) Hemchandra

(4) Gautama Buddha

104. What was the theme of the World

Environment Day, 2018?
(1) Beat Water Pollution
(2) Beat Air Pollution

(3) Beat Chemical Pollution
(4) Beat Plastic Pollution

105. What is the rank of India in the world as

per Global Happiness Index (GHI), 2018?
(1) 136th

(2) 8l1st

(3) 133rd

(4) 130th

106. Who was the originator of a cult named

‘Nath Panth’?

(1) Matsyendranath
(2) Gorakhnath

(3) Shri Nath

(4) Vasav

107. Which of the following is a folk dance of

Karnataka?

(1) Garba

(2) Charkula
(3) Jawara

(4) Yakshagana

108. The Kailashnath Temple (Shiva Temple)

at Kanchipuram containing sculpture
with paintings in the inner walls was
built by

(1) Devavarman

(2) Mahendravarman

(3) Narasimhavarman I

(4) Narasimhavarman II

109. Mirzapur is famous for

(1) Kajari

(2) Charkula dance
(3) Panwara

(4) Nakata



110.

111.

112.

113.

114.

115.

116.

Feferfigs & @ fvg wsa & wra #1004
TR ¥ 7

(1) wforg

(2) wuTEE Ry

(3) Armeve

4) fufem

F R & Rt srgeum werE R 3
(1) 3w #

(2) Q&

(3) wmAR

4) TR &

T 2018 F TA A qwEER B wew
™ R7

(1) W@ qrEaEH

(2) 7@ fetq

(3) Uad avTeIgH

(4) f=E o I

IM wew f=<h dwm g @ 2017 w
WG -l IR frd wem faman man 27

(1) Sfo TER MR

(2) WS HH

(3) S0 T Yo

(4) STo THIYTA Y

frefefea 4 @ frm & & 999 g=r, 2018
H gy TE H e

(1) fefeem

(2) wfee

(3) hfys fagm

(4) WA fa e

Yo THo 3N Mm FFe, 2018 (wfem
) A faera o

(1) e Afereh

(2) T e

(3) A A

@) & fafsas

654 T fhen qraRl ¥ af 2017 ¥ R
TNy e Foen B Qe s

(1) gert g3
2) et Aifeam
(3) A9 Teerd
(4) WEFR3I

110. In which of the following States, India’s

111.

112.

113.

114,

115.

116.

100th airport is located?
(1) Manipur

(2) Arunachal Pradesh
(3) Nagaland

(4) Sikkim

Central Glass and Ceramic Research
Institute is located at
(1) Agra

(2) Khurja

(3) Kanpur

(4) Ferozabad

Who among the following has been
awarded for Ramon Magsaysay Award,
20187

(1) Bharat Vatwani

(2) Bruce Rittmann

(3) Robert Langlands

(4) Richard H. Thaler

Who has been given the Bharat-Bharati

Award of the year 2017 by Uttar Pradesh
Hindi Institute?

(1)
(2)
3)
(4)

-

Dr. Rameshchandra Shah
Jayprakash Kardam

Dr. Ramdev Shukla

Dr. Ramgopal Sharma

In which of the following fields, the
Nobel Prize, 2018 has not been
announced?

(1) Medical

(2) Literature
(3) Physics

(4) Chemistry
The winner

Tournament,
was

(1) Caroline Wozniacki
(2) Simona Halep

(3) Naomi Osaka

(4) Serena Williams

At the 65th National Film Awards for

2017, the Best Feature Film Award was
bagged by

(1) Tumhari Sulu
(2) Hindi Medium
(3) Village Rockstars
(4) Bhayanakam

of US Open Tennis
2018 (Women’s Singles)



117, et 2018 A werarg whed w simig
v wy SR feq man?

(1) wAEA (AfRmn))
(2) WA (zfko snfvam)
(3) wdfaw (Jrévx)
(4) w (%)

118, Pt 3wt & A el wumh S 9 3

1lﬁ"l?'fi. 2018 R ‘T Wik’ N yEem

(1) 9
(2) wERAfirm
(3) iem
(4) R

119. ‘WA 1 Ve’ R = s R7
(1) forey wrwi
(2) wiierfa
(3) wferTd
(4) wmfa
120. T A’ R TR N I FFhE W
g A wa e R mn?
(1) 2017 (2) 2018
(3) 2012 (4) 2015

121. ‘TusFel’ fre TsT 1 Y@ TTEE 7 A7
(1) W W™
(2) YW W
(3) wAIEH
(4)
122. dny Sud 1 Gy Bre T A ¥7
(1) e
2) e
3) ﬁmﬁmﬁ
(@) FEd
123, V< 3% gFA’ A 91 R
(1) 175 =R
) 179 iR
(3) 180 HX
(4) 182 X

117. Where was the International Conference
on Climate Change held in December
2018?

(1) Kankun (Mexico)

(2) Durban (South Africa)
(3) Katowice (Poland)

(4) Doha (Qatar)

118. In which of the following countries did
Prime Minister Narendra Modi start
‘Ramayana Circuit’ on May 11, 2018?

(1) Nepal
(2) Indonesia
(3) Sri Lanka
(4) Myanmar
119. Who is known as the ‘Shakespeare of
India™
(1) Vishnu Sharma
(2) Panini
(3) Kalidasa
(4) Bharavi

120. When was ‘Kumbha Mela’ included in
Intangible Cultural Heritage List of

UNESCO?
(1) 2017 (2) 2018
(3) 2012 (4) 2015

121. ‘Kathakali’ is the main classical dance of
which State?

(1) Uttar Pradesh
(2) Andhra Pradesh
(3) Karnataka
(4) Kerala
122. Saurabh Chaudhary is associated with
which sport?
(1) Boxing
(2) Cricket
(3) Shooting
(4) Wrestling

123. The height of ‘Statue of Unity* is
(1) 175 meter
(2) 179 meter
(3) 180 meter
(4) 182 meter



124, qm;ﬁ: Feefl $oriRd temdt dar g B T
m

(1) 311
(2) 314
(3) ¥ 16
(@) ¥ 18
125. o< 2018 % WRA 1 FEQ I GW TG
Frafefaa & @ Am-m 47
(1) wfe
(2) fn
3) fafk
(4) SN
126. 909 e, 2018 ) wdE frew 2
(1) T %erfRs g
2) 2 3mEe
,B) 7 A 37 T
(@) SR
127. 7 fora gaais, 2018 & wRa w1 WF &
(1) 128t
(2) 120af
.(3) 130df
@) 1313
128. 7 THfIs=e WigH MR q&& ¥ q@w
- wR
(1) FerE™ TRR
[(2) 9w
(3) THo
(4) FE AR

129. & iMad g fhas gr et w8 27
(1) o st
(2) 37w
(3) fiam gy
(4) = AR
130. fiewiT I9aTE ) Afaw 3
(1) seufa g
2) Tnad
- (3) Toror
@) Tt feq

ATR-2019/3-A

124, India’s first cng_incleas train is now
ready. Its name 18

(1) Train 11
(2) Train 14
(3) Train 16
(4) Train 18

on March 2018, which of the
the India’s fastest

125. As !
following is
supercomputer?

(1) Summit
(2) Sierra
(3) Mihir
(4) Pratyush
126. The best film of the 90th Oscar, 2018 is
(1) A Fantastic Woman
(2) Get Out
(3) The Shape of Water
(4) Dunkirk

127. India’s rank in Human Development
Index, 2018 is

(1) 128th
(2) 129th
(3) 130th
4) 131st

128. Who is the author of the book, The
Accidental Prime Minister ?

(1) Kuldeep Nayar
(2) Sanjaya Baru
(3) S. Bose

(4) Karan Thapar

129. The book, Exam Warriors is written by
(1) Pranab Mukherjee
(2) Arun Shourie
(3) Amitav Ghosh
(4) Narendra Modi

130. The author of the novel, Milkman is
(1) Arundhati Roy
(2) Anna Burns
(3) Kiran Desai
(4) Hilary Mantel



131. HiE Bree = g v
(1) @ Rwlm s

(2) FhR @@ whi ¥ A
fawmm s il i

(3) WEH WE F IW W FH
(4) =3 e s

132, 3N F g5 v e % R &
(1) W

(2) TAF THo T

@) g
(4) whiA

133. SO e | =fE
(1) o Rt N wwe
() T B EE ww
(3) TEQ H TOER F Fa }
(4) T W ¥ @ R

134, TR 5 wohm & arfidoon &7
(1) HA TN T WA
(2) YHATCHS Td ATAH
(3) FUTHS TH Wedd
(4) OIS Td AT

135. fan =1 AR AT (RTE Act) e =

| et gan?
(1) 2009 (2) 2010
(3) 2005 (4) 2001

136. "7 W } S FEE g B g R T
fom f&mn ™
(1) SR EN
(2) |gF=
(3) 3 EW
(4) wwfEm g
137. Frafafiaa § @ FH-91 T G 36 27
(1) ImeriRa
(2) 3

3) =@
@) @m
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131.

132.

133.

134.

135.

136.

137.

The main aim of life skill is
(1)
(2)

to develop capabilities

to develop ability according to
demands and challenges

(3)

to receive the answer of every
question

(4)
The instinct theory of motivation was
given by

(1) Freud

(2) Clark L. Hull

(3) McDougall

(4) Morgan

to become good teacher

In sympathy, a person
(1)
(2)
(3)
(4)

Reward is what kind of motivation?
(1)

understands the problems of others
likes others

works according to wish of others
lives always in confusion

Positive and direct

*(2) Positive and indirect

(3) Negative and direct

(4) Negative and indirect

From which year, the Right to Eduéatidi:l
Act (RTE Act) came into effect?

(1) 2009 (2) 2010
(3) 2005 (4) 2001

"Va!ue is tl_'xat which satisfies human
desires.” This statement is given by

(1) Aristotle
(2) Hume
(3) Urban
(4) Hoffding

Which of the following is a social motive?
(1) Self-pride

@) Love

(3) Hunger

(4) Thirst

[ P.T.O.



138. 3 2 A v FQ T T W0E T RS
*Q ) I wwarh R
(1) Jo=TeTwa
2) =uf= fawm
(3) &=
(4) TTeHM

139. srEwfis FRvm %1 v wdwwm feed fm?
(1) =W
(2) YRE=
(3) &=
(4) s

140. We Mo fo Mo Ao A NMyw wed *
Frafafaa gt & ¥ frwa when fmm 27
(1) &% @ g=r
(2) =™
(3) HHMA W& wEEm
(4) I

141. A, BRT@ R C BRA WM D, cw
R E DRAARTA DAR
wafua 87
(1) @
(2) 9=
3) =@
(4) T

142.ﬁn%haﬂmﬁ:(?)%mww
AT rfge?
169

MK: —::JH:?
121

100 100
1) — ) [
ks 64 @ 81

3 Sp——— 4 —_—

143. Tgd 9W WH § 40 km @ 6 3R wrsfea
m%,‘ﬁi{mﬁ@twgo km ST

AR TR TR 20 km S 21 TR IR

TR wF R freft i

(1) O km (2) 10 km

(3) 20v2 km (4) 30 km
ATR-2019/3-A
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138.

139.

140.

141.

142.

143.

The ability to do things differently and
use new techniques is called

(1) creativity

(2) personality development

(3) newness

(4) awareness

Who first used the vocational guidance?
(1) Mayer

(2) Parsons

(3) Halk .

(4) Brewer

Which of the following values has

been accepted by NCERT in relation
to education?

(1) Cleanliness and truthfulness
(2) Labour

(3) Equality and cooperation

(4) All of the above

A is B's sister. C is B's mother. D'is Cs
father. E is D's mother. Then how is A
related to D?

(1) Daughter

(2) Granddaughter
(3) Grandmother
(4) Father

What should come in Place of question
mark(?) in the following?

MK:199.. 54.5

121
100 100
1) — 2) 100
64 (2) 5
61 81
3 My
G T2 (4) 108

Rahul, a cyclist, rides 40 km to the east
tums north and rides 20 km, agmn
tumns left and rides 20 km. How'far is
he from the starting point?

(1) 0 km (2) 10 km
(3) 20v2 km 4) 30 km
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144, fel WHRF v 3f 256 1 A4 ‘you are
good', 637 1 31¥ ‘we are bad’ 3 358
# 914 ‘good and bad’' %1 %@ WM & ‘and’
¥ foe #R-H v vy A ¥
(1) 8 2) 3
3) S “4) 2

145. 5l 4 A FORGE 1 FPTUI fivan s 2
3 @A A CULPRIT 91 4R firan wmom?

(1) CVMQSTU
(2) CXOSULW
(3) CVNSVNZ
(4) CSJINPGR

146. e F1 @ s = 87
(1) "7 H |
(2) =5l fefe
(3) =t =
(4) AT TR

147, dfto Teo 3o <1 forgd &9 &
(1) ﬂﬂaﬁﬂzﬁuﬂﬁz |
(2) THH AN FTETAHE
(3) TYA TN FHEEEH
(4) Iy S TR

148. 3Eo Ho o 1 RW B
(1) T THal Sl TG FAT
2) et it gwar TG
3) (1) 3 (2) 3
(4) 37 & @ H§ A

149. ¥ 81 ¥
(1) 3@ifea Hew
(2) aifda d@ew
(3) Werwra
(4) IR T
150. Frerffian # ¥ wgwd FA F- 27
(1) vt faen
2) = fews
(3) Hto do-1H
(4) M

ATR-2019/3-A

144. In a certain code language, 256 means
‘you are good’, 637 means ‘we are bad’
and 358 means ‘good and bad’. What

number is used for ‘and’ in this
language?

(1) 8 2 3

3) 5 4) 2

145. In a certain code, FORGE is written as
FPTJI. How will CULPRIT be written in
the same code?

(1) CVMQSTU
(2) CXOSULW
(3) CVNSVNZ
(4) CSJNPGR

146. What is the full form of Bit?
(1) Binary tree
(2) Binary digit
(3) Binary term
(4) Binary task

147. VLE stands for
(1) Value Learning Environment
(2) Virtual Loaded Environment
(3) Virtual Leatning Environment
(4) Value Loaded Environment

148. The objective of ICT is
(1) the establishment of smart schools
(2) to increase the capacity of teachers
(3) Both (1) and (2)
(4) None of the above

149. Spam is
(1)
(2)
(3)
(4)
150. Which of the following is primary.
memory? ; -
(1) Floppy disk .
(2) Hard disk
(3) CD-ROM
(4) ROM

unwanted messages
wanted messages
protocol

All of the above

[ P.T.O.
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